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11.28

a. RATO =6.68 +0.00479. DIAMETER

The coefficients 6.68 and 0.10479 are the intercept and slope ofthe live, respectivly

b. The role ofSSE, which isthe resist sun tosynes, is green in the printent as 0.537.

The least sques lie the minimizes the SSE. Thefee, there is no other line with

an overage ever that has a smaller SSE then the least sques live. I there were, then that line would be

the hut sques live instant.

c. 0 is 6.6782,which is the estimental value ofRATU when the diameter is 0. In practical terms.

this wild represent the base cost ratio ofrepair to replacement when no pipe is involved,which

doesn't make too much sense in this context, but it'snecessary for the liven model.

is, is 0.0047856. This is the estimal change in RATOJn a are-nit increase in the diameterfor the

pipe. In partial tunes, this means that fu each additional millimet ofpipe diameter, the ratio of
repair to replacent cost increases byapproximently0.00474. This suggests the larger pipes are were cost-effective
to repair then replace, compul to small pipes.

11.01 from the quintent, the prude for the DIAETER prodieter is r.wo, which is less then the significe level(or 0.05. This mens that we

cae reject the will hypothesis that the confrient ofDIAMETER is zero. In other words, there is stay evidence to suggest that the

cost ratio does inteal incurse lively with pipe diameter.

Ginn!

The crefnientfor DIAMETER is0.041856, and the standal ever ofthis crfient is 0.003218.

Conficient 1: t-rule. SE)

Burd on the to table, the tubein a 95% confide intent with is degrees ofjurdue ry=n-2)
is approximately2.201

0.004755612.20/10.10328 ->10.248,0.00549)

This mens that we are 95% anfident that the the increase in cost ratio for every 1 millimeter increase in pipe dimeth

lies within this internt.



11. 24.

1. yi =Br+ Bixi+Ei

The gut is to find the roles ofBoard B, that mininize the sum ofthe squeal resicels, the differences between the observal and predictal values of4.3

B, =--2x),Zy
ni2x, -12x

Bo =y - B.x Thefire, we get:

From the collator. We got y = - 27.24 +0.556x

2x =1394 which witch the cuputr cutputs.

zy
=560

2xy: 98794

2x=245060

x =174.25

; :70

2. Stral even of the estimation

0::(=5.26659.

his isused in the denominator because two parameters. Board (i) were estimal in the process ofregression.

3. The hypothesistest for the slope ofthe regression line, is isused to determine ifthe independent variable: Vialax) is linewly
related to the depulent variable: 11%).

Ho:B, =0

Ha:B, to

=Al"where Bier=0 in this case

Decision rule:Reject Ho ifthe absolute value ofthe testific isyouth than the critical to valve with now of.

Given:1,:0.5500 and SE= v.1B SEys:itisthe
t =80-0 =4.94

we full that the curespuling probe is0.03

Since the p-value is less than the significe level, 0.051, we reject the will hypothesis. This suggest that VOIMax

is livelyrelated to 11% at the 5% syrian Levt.



4. You I t= siyme

Siyms="')tx,
yu = - 27.2 +0.556x180 = 73.24

siyns =5.26559 x/
= 2.386

you - t5.5"ynl = 73.24 =2.447 x2.386 =73.24 =5.84

Thefice, the 95% confidence interalfor mean HR fr a Voaldax levelof180 is approximualy 6740,79.08).

5. Yi ItScYps

Studul Eve ofip:

says:"di
Pay in VIMax =180 toJurLip

Yp =- 27.2 +0.556x180

Yp:73.24

8 =3 =

5.26859
n

=6

Xp:160

Y Menof the VOzMax)

-+ +194 +197: 174.25

21 Xi-xs=SSaal-SSrgression:844-677.45 =166.55

Scps:5.26659.
=5.63

a =0.05urL dy =ns =6

t= =2.447

Yp ItG scyps
=73.24 =2.447.5.63

159.47,87.01




